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1. CeuaflS @ srgasens oyen WTeTD STTs.

() &Llig (<) eflesiiLams (§) Haeaeusd () dlewrusid

Identify the output device. .

() Mouse (b) Keyboard (c) Memory Momtor
2. @Thg eumuiled gmés gLl eran) SienpsaliLhEng)?

(<=1) XNOR (<) AND (&) OR () NOT

Which gate is called as the logical inverter ? .
(@) XNOR (b) AND (}2)") OR

3. Qwés siewliurag LuemsE aisman BHlevey Lngismieny eUpkiGSH g ?
(1) 3 ()2 (&) 5 () 4

How wfarly level of securities is provided by operating system to the user ?
3 b) 2 (€) b - (d 4

4. NarCGLmev Lwerumiged Camiiyser Oar_rheaewrs erhg Gamlyemmulde

Cell&sL@Hm? 7 1
(<=1) My computer (%My document
(@) My pictures () Documents and settings

In Windows applications which is the default folder to save files ?

(@) My computer (b) My ment |
(c) My pictures Wtﬁh@

5. m n wrilsefled LN BESIEE @ erarar iy DHEED?
(1) mn:=10,5
(2) mn:=m+3,n-2

(3)° m,nf'=2 ?

(=1) 3, 13 (<) 10, 13 (@) 13,3
After the assignment what values will be stored in the variables m, p 7
(1) mn:=10,5

(2) mn:=m43 n-2

() mn:=? 7

)
(@) 3,13 (b) 10,13 (9~ 13,3

(d) 10,5
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SD&aTam D LSS TESMET (penD Quikigh?

m:=( '

while (m<5)

m:=m+1]

(=1) 10 (<2p)4 (@) 5 () 6
How many times the loop is iterated ?

m:=0

while (m<5)

m:=m-+1 )
(@ 10 b) 4 W d 6

S Blreller o drar B&An sallss i :
(<=1) eldvevevsar (<=1,) Gurel& @ wenm
(8) Apdepenp (FF) urweyluLLb

e smallest individual unit in a program is :

[ (Ms , (b) Pseudocode

(c) Algorithm (d) Flowchart

Qeupmer wL &S QusELGUTE wLGHmar AL B QaualGup 2 gajb
DM Wng?
(<=i) while (<,) goto (@) break (FF) continue

Which of the following statement is used to terminate cution of the loop ?
(2~ while (b) goto (& brea (d) continue

C++ -60 @) GOUDiewel (PG HYID TE@TEMSIT g @eamawim
cremuens FluMiés 2 sa b Cewunam 6rgl?
(<=1) islower() (<4 ) isalpha() (&) isdigit() (/) isalnum()

In C++ which function is used to check whether a character is alphanumeric o not ?
(@) islower) (b isalpha() (9 isdigi() L_QW v
g age[]={6f 80, 75, 21, 10}; ‘
Qb5 ol eTigeman 2 mliLjser 2 aTaTen? o
(1) 4 ()2 @) 5 (%) 6

int age[ 1= {6, 80, 75, 21, 10}; How many elements are t#ere)in this array ?

(@) 4 (b) 2 °' (@ 6

[ @@uuaa / Turn oyey
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11. lfnhbl(nl(”)(\“ﬁ'\nl(ﬂUi)‘ll)l‘uil ‘nllil)l LU 1G0T ‘u”hml'lll Ul)l"i'(",)lh :.'j)u “l UGN, .-u)])@w?

(<o) char (v, ) closs (@) foal (FF) int
Which of the "()Iln\\'in“ ir,’\(itilfl' defined (o type ?
(@) char / W/ class | (¢)  floal (d) int

12, Aehquanip (LPAVIQUIG.G i, & (pdaneinn QIbmIGr 6r i opdd) @uidatubin?
add display (add &a)
(1) B <0G
(<) Bravemioa; oy i)
(@) DAQTLIHEH @G onlq. Ll ], d545)
(FF) DITLIHGSEAT @ebavirss <o didf)

Which ofthe lollowing constructor is exccuted for the following prototype ?
?d‘{g/f_@:’]i Y (add &a); -

4) copy constructor

(b)  default constructor

(¢)  parameterized constructor

(d)  non-parameterized constructor

.
’

13. CH+ -6 Aemeumid arhs Qewm@hlenw Ll @iy Qewdiwemb?
(é{) ? : (%) + (@) sizeof ([T') s

In C++ which of the following)operator can be overloaded ?
(@ ?: (c) sizeof (d)

14. Gereumeuareupmier erg wrfliod QU euflengudd QWESHILHHADg?
(1) poBdmangse (<) @9
(&) <SBauLTEsLD () 268
Which amongst the following is executed in the order of inheritance ?
(a) composition (b)  destryc

(c) abstraction 77(1

15.  Spssaraupmer ergl dewewemp LudHd wHmID wéiysmer LTINS
(<21) senfluGumd pentlamlser (<,) 2-Menouf oo B&GOT &L
(&) ol () B&aHlreD

(b)  piracy

‘_(—Q‘ programs (d)  virus
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